2" MArKYNPIA OAYMMNIAAA MOAITIKHZ OIKONOMIAZ
OAHTFIEZ NMPOZ TOYZ AIAFQNIZOMENOYZ
INSTRUCTIONS TO CANDIDATES

Mo kd0e epwTnON, EMAELTE KAl KUKAWOTE TN oWOoTH amrdvinon A, B, M A
For each question, choose and circle the correct answer A, B, C, or D

1. 'Evag acBevAg TTPETTEI VO AyOoPAoEl JIG GUYKEKPIPEVN TTOCOTATA PAPUAKOU ATTapaiTnTn yI' AuTtdyv, Kal gival
O1aTeBEINEVOG va TTANPWOEI OTTOIOOATTOTE TIWN YIA VA TO ATTOKTHOEL.
H ¢ATnon yia To ayaBo6 autd XapakTnpifeTal wg:

A. TTAipwg aveAaoTIKr

B. AveAaOTIKRA

. Movadiaiag eAaoTIKOTNTAG
A. MAApwg eAaaTIKr

A patient must buy a quantity of a specific medicine for himself and he is willing to pay any price to
purchase it. The demand for the good (medicine) is characterized as:

A. Perfectly Inelastic
B. Inelastic

C. Unit Elastic

D.

Perfectly Elastic

2. To mapakdtw didypauua TTapouaiddel TIG KAPTTUAEG TOU OPIAKOU Kal HJEGOU TTPOIOVTOG

KautroAeg Méoou kail Oplakou
TTPOIOVTOG

Méoo ka1 Oplaké rpoiov (AP, MP)

O|lA B T A\

MP

Epyareg (L)

Me Bdon 10 didypauua, o véuog Tng eBivoucag amédoong apxilel va ep@avifetal eté 1o onueio:
A.

B.
r.
A



The following diagram shows the Marginal Product curve and the Average Product curve.

Average and Marginal Product

Average and Marginal product(AP, MP)

Labor (L)

Based on the diagram, the Law of Diminishing Returns begins to operate (sets in) after the following point:
A.

B.
C.
D

3. Aivetal o TTapokdTw TTivoKag:

Mapayopeveg ZuvoAIKO
Movadeg KoéoTtog
Tévol €
0 200
1 600
2 1.100
3 1.400
4 1.800
5 2.600

To péoo petaBAnTd KaTd povada otav TrapdyovTal TevTe (5) yovadeg sivai:

A. €520
B. €800
I. €560
A. €480



You are provided with the following table:

Units Total
Produced Cost
Tonnes €

200
600
1100
1400
1800
2600

i WiIN P, O

The Average Variable Cost when five (5) units are produced is:

A. €520
B. €800
C. €560
D. €480

Mia emixeipnon peyioTotoiei To kEPSOG TNG 6TaV N TTapaywyn ival 10 povadeg.
2¢ autd 10 onueio, n TN eival €12,50 avd povada, To ZuvoAikd MetaBAnté KéoTtog €100, kai TO
2UvoAIKS 2TaBepd KbaTog €50.

A. Na ouveyxioel Tnv TTapaywyn Kai oTn Bpaxuxpovia TTePiodo Kal aTNV JaKpoxpovia TTepiodo

B. Na ouveyxioel Tnv Tapaywyn otn Bpaxuxpovia epiodo, aAAd va SlakOWel TNV TTapaywyr oTnv
MaKpoxXpovia TTepiodo

. Apeon dIAKOTI TNG TTApAYWYNG.

A. AGEnon TnG TTapaywynAg ME OKOTTO TNV alénon Twv TTWAACEWV.

A firm’s profit maximizing level is 10 units of output.
At this level of output, the selling price is €12.50 per unit, Total Variable Costs are €100 and Total Fixed
Costs are €50. What would you advise this firm to do?

Continue producing in both the short run and the long run
Continue producing in the short run but shut down in the long run
Stop producing (shut down) immediately

Increase production and then increase the level of sales

oo wp

Av 10 AET Tou 2015 Atav €300 ek. kai Tou 2020 civar €700 ek.
Emiong, av o Agiktng Tipwv Tou 2015 Atav 100 povadeg kai To 2020 givar 250 povadeg.
Tote, n agia Tou AEIM Tou 2020 o€ otaBepég TipEG Tou 2015 Ba eivail:

A. €280 ex.
B. €850 ex.
. €450 eK.
A. €250 k.



The GDP in 2015 was €300 million and the GDP in 2020 was €700 million.
The Price Index in 2015 was 100 units and in 2020 was 250 units.
What is the value of GDP in 2020 at constant prices of 2015?

A. €280 million
B. €850 million
C. €450 million
D. €250 million

6. Ortav n ehaoTikéTNTA {ATNONG £vOG ayaBou eival ion pe 2, autd onuaivel OTI:

A. Mia at&¢naon Tng TINAG Tou ayaBou KaTtd 1% Ba £xel wg atroTEAETUa TNV augnaon Tng ¢nTouuevng
TToodTNTAG KATA 2%

B. Mia aug¢non tng {nToluevng TTooOdTNTAG Tou ayabou katd 1% Ba éxel wg aTmoTéAECHa TN hEiwaon TNG
TIMAG KaTa 2%

. Mia ab&non Tng TINAG Tou ayaBou katd 1% Ba £xel wg atToTéAeopa T peiwan TNG ¢nToUhEVNG
TToooTNTAG KATA 2%

A. Mia aténon Tng TIPAG Tou ayabou katd 2% Ba £xel w¢ atToTEAECUA TN YEiwan TnG TToooTNTAaG KATd 1%

When Price Elasticity of Demand for a good is 2, then that means that:

An increase in the price of the good by 1% will increase quantity demanded by 2%

An increase in the quantity demanded of the good by 1% will decrease the price by 2%
An increase in the price of the good by 1% will decrease the quantity demanded by 2%
An increase in the price of the good by 2% will decrease the quantity demanded by 1%
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7. ZTn Bpaxuxpovia Trepiodo, étav To oplakod TTpoidyv yivetal undév (0), ToTE:

A. To ouvoAIKO TTPOIGV QTTOKTA TN YEYIOTN TIKK TOU
B. To péoo mpoidv atmmokTd Tn JEYIOTN TIWK TOU

. To yéoo poidv apxifel va PEIWVETAI

A. To GuvoAIKO TTPOoIdV yiveTal apvnTikO

In the short run, when the Marginal Product becomes zero (0), then:

The Total Product reaches its highest value
The Average Product reaches its highest value
The Average Product starts to decrease

The Total Product becomes negative
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8. Toia amrd 1ig TTapakdTw oxX£CEIG I0XUEI OTO KOOTOG TTAPAYWYNAG:

A. VC=FC-TC
B. FC=TC-VC
. TC=FC-VC
A. VC=FC+TC

With regard to the Cost of Production, which of the following equations is true:

A. VC=FC-TC
B. FC=TC-VC
C. TC=FC-VC
D. VC=FC+TC

9. ZXtov TéA€io AvTaywviouo, n 181K oxéon TNG KAPTTUANG ZATNONG Kail TNG KapTTuAng Oplakou Ecddou (MR),
odnyei 010 cupTTépacua OTI N PEYIOTOTTOINGTN TOU KEPOOUG ETTITUYXAVETAI OTAV:

A. P=MR
B. AR=MR
.P=AC
A. P=MC

Because of the relationship between a perfectly competitive firm’s demand curve and its Marginal
Revenue curve, the profit maximization condition for the firm can be written as:

A. P=MR
B. AR=MR
C. P=AC
D. P=MC

10. Moia o116 Ta akGAouBa Ba TTpETTel va cupTTeEpIAN®BoUv oTo AENM?

1. MicBoi TToNITwv
2. Képodn atrd modoo@alpika oToixAuaTa
3. ZuvTtdgeig TToNITwv
4., KéEPON PETOXIKWYV ETAIPEIWV
5. KataBAnBévta pepiopata
6. KEpOn UTTEPAKTIWY ETAIPEIWV
A. 1, 3ka 4
B.1,4ka 5
1,4 ka6
A.1,5«kal 6



Which of the following must be included in the GDP?

1. Employees’ wages
2. Profits from sports gambling
3. Pensions
4. Limited companies’ profits
5. Dividends Distributed (paid)
6. Offshore companies’ profits
A. 1,3and 4
B. 1,4and5
C. 1,4and 6
D. 1,5and 6

11. Zmnv iuR €1, o Owudg ayopddel 15 kapapéAAeg.
21nv TIUA €3, Ba ayopdoel 7 KapapéAAEG.
H eAaoTik6TNTa {ATNONG (UE TN MEBODBO TOU PECOU onueiou) yia To Qwud Ba eivai;

A. 1.38
B. 0.73
I 0.25
A 4

At a price of €1, Thomas purchases 15 sweets.
At a price of €3, he will purchase 7 sweets.
The Price Elasticity of Demand (using the mid-point method) is:

A. 1.38
B. 0.73
C. 0.25
D. 4

12. To oplakd Tpoidv TNG epyaciag uttoAoyifeTal ws €EAG:

MetaBoAr ZuvoAwko IIpoidvtog

MetafoAn Zuvoiikov Kéatoug

MetaBoAn Zuvoiikov Kéotoug

MetafoAn Zuvolikov [poidvtog

MetafoAn Zuvoiko Ipoidvtog

MetaBoAr MMocdttag Epyaciog

MetafoAn Mocotntag Epyaciag

MetaBoAr] ZuvoAwko [Ipoidvtog



The Marginal Product of Labour is calculated using:

Change in Total Product

Change in Total Cost

Change in Total Cost

Change in Total Product

Change in Total Product

Change in Quatity of Labour

Change in Quatity of Labour

Change in Total Product

13. To péoo o1aBepd KO6OTOG:

A. MaiwveTtal étav n Tapaywyr augaverai
B. Eival otaBepd avetdptnta atrd Tnv mapaywyn
. Augavetal 6Tav N TTapaywyr audveral
A. MeiwveTtal 6Tav n Tapaywyr MEIWVETAI

The average fixed cost:

Decreases when the level of production increases
Remains constant regardless of the level of production
Increases when the level of production increases
Decreases when the level of production decreases
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14. Me Bdon Tov Mo KATW TTivaKa:

Q TR MR TC MC Profit
Movdadeg € € € € €

0 0 - 0 - 0

1 10 10 ? 5 ?

2 20 10 11 ? ?

3 30 10 ? 8 ?

4 40 10 30 ? ?

H emxeipnon peyioTotrolgi To KEPDOG TNG OTIG;

A. 0 povadeg
B. 2 povadeg
. 3 povadeg
A. 4 povadeg




Study the following table:

Q TR MR TC MC Profit
Units € € € € €

0 0 - 0 - 0

1 10 10 ? 5 ?

2 20 10 11 ? ?

3 30 10 ? 8 ?

4 40 10 30 ? ?

At which level of production does the firm maximize its profit?

A. 0 units
B. 2 units
C. 3units
D. 4 units

15. To mo KATw dIaypappa deixvel TIG KAPTTUAEG TOU OUVOAIKOU £0000uU (TR) Kal TOU GUVOAIKOU KOGTOUG
(TC) pI0G avTayWVIOTIKAG ETTIXEIPNONG.

7

Ed

‘Eacada-Kdaartoc (€)

0 MocdTnTa ﬁqpaywyﬁg (Q)

To o1aBepd KGOTOG TNG £TTIXEIPNONG ival:

A ‘loo pe 1o AB

B ‘loo ye 10 OA

I loo pe o EI

A. Agv ptropei va rpocdiopiaTei atrd 1o dIdypauua.



The following diagram shows the Total Revenue (TR) curve and the Total Cost (TC) curve for a firm that
operates in a perfectly competitive market.

Revenue/Cost (€)

!Quantity (Q)

What is the firm’s Fixed Cost?

A. Equalto DB
B. Equal to OA
C. Equalto EC
D. Cannot be determined from the above diagram

16. Ta ayaBd A kai B gival uttokaTtdoTata, evw Ta ayadd A kal [T GUPTTANPWUATIKA.
Otav 6Aol oI GANoI TTapAyoVvTEG TTOPAUEVOUV aueTARANTOI, pia PEiwon TNG TIMAG Tou A Ba KataAnger:

A. Xe pgiwon TnG ¢ATNONG Tou B Kal o€ peiwan Tng ¢tnong tou I
B. Ze augénon tng ¢ntnong tou B ka1 o augnon tng ¢ntnong tou I
. e pyeiwon NG ¢ATnong Tou B kal o€ augnon Tng ¢ntnong tou I
A. Ze atg¢non Tng ¢ATnong Tou B kail o€ peiwan Tng ¢ATnong Tou I

Goods A and B are substitutes, while Goods A and C are complementary.
Ceteris Paribus, a decrease in the price of Good A, will result in:

A decrease in the demand for Good B and a decrease in the demand for Good C

An increase in the demand for Good B and an increase in the demand for Good C
A decrease in the demand for Good B and an increase in the demand for Good C
An increase in the demand for Good B and a decrease in the demand for Good C
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17. O véuog Tng eBivoucag amrédoong TTPoUTToBETEl OTI:

A TouAdxioTo évag ouvTeAeaTAG gival oTaBePOG

B TouAdyioTo évag ouvteAeoThg gival geTaBAnTog

" XpnoigotroioUvtal ataBepd Kai HETARANTOI CUVTEAEOTEG.
A loxuouv 6Aa Ta TTI0 TTAVW.

The Law of Diminishing Returns assumes that:

A. At least one factor of production is constant (fixed)

B. At least one factor of production is variable

C. Both constant and variable factors of productions are used
D. All of the above

18. Bpaxuxpdvia n KAPTTUAN TOU OpIaKOU KOOTOUG TEUVEI TV KAWTTUAN TOU Y€oOU KOOTOUG OTO:

A. EAGxioTO onuegio TNG KAUTTUANG TOU OPIAKOU KOGTOUG
B. MéyioTo onueio TnG KAUTTUANG TOU OpIaKoU KOGTOUG
. EAGXI0TO onuegio TNG KAUTTUANG TOU HECOU KOOTOUG
A. MéEyioTo onuEio TNG KAPTTUANG Tou HEGOU KOOTOUG

In the short run, the Marginal Cost curve cuts the Average Cost curve at which point?

A. The minimum point of the Marginal Cost curve
B. The maximum point of the Marginal Cost curve
C. The minimum point of the Average Cost curve
D. The maximum point of the Average Cost curve

19. X¢ yia emixeipnon Tou Trapayel 1o pAva 600 povadeg TTPoidvTog, e To Eco PETARANTO KOGTOG €15 Kal
T0 0TABEPO KOOTOG €90.000, TO CUVOAIKS KOOTOG €ival:

A. €12.000
B. €99.000
. €75.000
A. Kavéva atréd ta Tapatravw

A firm which produces 600 units per month, with an average variable cost of €15 and a fixed cost of
€90 000, the total cost is:

€12 000
€99 000
€75 000
None of the above

oow»

20. 2V Kutrpo étav Aéue “EBvikd Eioédnua”, evvoouUpe:

A EBviké Eiocédnua og Tiuég Ayopdg

B. AkaBdapioTto EBvikd Eioédnua o€ TIHEG ZUVTEAEGTWV

. KaBapod EBvikd Eioddnua o€ Tigég ZuvTEAEOTWV

A. MpoowTrkd, AiaBéaiyo Eiocddnua o€ TiuEG ZuvTeAeoTWwV
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In Cyprus, when Economists use the term “National Income”, they mean:

Gross National Income at Market Prices

Gross National Income at Cost of Production Prices

Net National Income at Cost of Production Prices
Personal, disposable income at Cost of Production Prices

oow»

21. Av n ¢nToUpevn TTo00TNTA £VOG ayaBoU TTapapével aueTaBANTN KaBwg n TiuA Tou HETABAAAETAI, N
€AAOTIKOTNTA TNG {TNONG WG TTPOG TNV TIUNA €ival:

A MeyaAUTtepn ammo 1

B. lonue 1
. MikpoTepn atmo 1
A. lon e 0

if the quantity demanded for a product stays the same as the price changes, the price elasticity of

demand is:
A. Greater than 1
B. Equalto1l
C. Lessthan1l
D. Equalto 0

22. Otav 10 péoo TTpoidv Tou cuvteAeoT Epyaacia givar péyioTo, TOTE:

A To ouvoAikd TTpoidv apxilel va augdvetal he @Bivovta pubud
B To opiakd kai To péoo Tpoidy gival ioa

I". To opiakd TTpoidv pundevideTal

A. To opiakd TTpoidv apyicel va undevicetal

When the Average Product of one of the Factors of Production, Labour, is at its maximum level, then:

A. The Total Product starts to increase at a diminishing rate

B. The Marginal Product and the Average Product are equal

C. The Marginal Product becomes zero (0)

D. The Marginal Product starts to decrease and tends to become zero (0)

23. Av peiwBei 1o K6OTOG TTapaywyng evog ayabou e atabepn Tn ATNON Tou, TOTE:

A Oa auénBei n Tiun ka1 Ba pelwBei n TTO0OTNTA I00PPOTTIOG TOU

B Oa peiwbei kal n TIPA Kal N TTooGTNTA I0OPPOTTIAG TOU

M Oa peiwBei n Tipn ka1 6a augnBei n TTO0OTNTA IC0PPOTTIOG TOU

A. Oa peiwBei n TIPN 1I00pPOTTIAG TOU KAl N TTOCOTNTA I00PPOTTIAG TOU Ba peivel oTabepn
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When the Cost of Production of a good decreases, while the Demand for the good remains the same,

then:
A. The price of the good will increase and the equilibrium quantity will decrease
B. The price of the good will decrease and the equilibrium quantity will decrease
C. The price of the good will decrease and the equilibrium quantity will increase
D. The equilibrium price of the good will decrease and the equilibrium quantity will remain the same

24. ¥& 10 QvTAyWVIOTIKA ETTIXEIPNON G€ HAKPOXPOVIA ICOPPOTTIA, TO OpIakd £€0000 gival TTAVTOTE
........................ TNV ayopaia TIPA TOu TTPOIOVTOG

A. loo pe

B. uikpétepo atrd
. uyeyaAuTepo ammd
A. ave€dptnto atmod

In a firm operating in a perfectly competitive market in long run equilibrium, its Marginal Cost is always
........................ the market price of the product.

A. Equalto

B. Lessthan

C. Greater than

D. Independent from

25. AkaBdapioto Eyxwpio Mpoidv (AEIM) gival N GUVONIKR .....covveiviiiiiieenne. TToU TTapdydnkav eviog TNG
XWpag o€ pia dedopévn XpovikA TTepiodo.

Ayopaia afia OAwv Twv TEAIKWYV Kal eVOIANECWY ayaBwyV Kal UTTNPETIWY

. Ayopaia agia 6Awv TwVv TEAIKWV Kal eVOIAPNECTWY ayabwy Kal UTTNPECIWY TTANV TNV atToéoREon
Ayopaia agia OAwv Twv evOIGUECWY ayabwV Kal UTTNPECIWV
Ayopaia agia 6Awv Twv TEAIKWV ayaBwv Kal UTTNPECIWYV

Bow>

Gross Domestic Product (GDP) is the total
during a given time period.

............................ which was produced within the country

Market Value of all the Final and Intermediate Goods and Services

Market Value of all the Final and Intermediate Goods and Services minus the Depreciation
Market Value of all the Intermediate Goods and Services

Market Value of all the Final Goods and Services

oow»
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